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Let’s Practice!

1. Sulfurous acid, H250s, is a diprotic acid with K1 = 1.3 x 1072 and K; = 6.2 x 1078, Which of the following best
represents the relative concentrations of ions in a 2.0 M solution of H,S037?

a. [H250s3] < [$0327] = [HSO5™] ' c. [H250:] < [H50:7] < [SO527]
@ [503%7] < [HSO37) <<l—[14iSElJ d. [H:50;3] = [S03%7] < [HS037]
h%qKE

2. Which of the following igfs will have the lowest concentration in a 0.50-molar solution of H2504(2g)?
a. S0.% b. HSO4 @ H250, d. HsO"
Lod
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3. Which of the following ions will have the greatest concentration in a 0.02-molar solution of H2504(aq)?

a. SO @ HSO4" C.  HiS04 d. OH"

4, Asthe concentration of a weak acid increases, its percent dissociation \‘V and the pH &/ .
a. increases, increases c. increases, decreases

decreases, decreases d. decreases, increases

5. The acid dissociation constants of phosphoric acid (H3PO4) are Ka: =8 x 1073, Kz = 6 x 107 and Kas 4% 10713 at
298 K. What is the pH of a 5.0 M aqueous solution of phosphoric acid?

@0.70 b. 1.7 c. 2.7 d. 3.7
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6. A0.10 M acid solution has a pH of 2.00. The acid could be: = \?\% uj {EE, 6
{
a. HNO; \_Eersos | ¢. CH3;COOH d. HCIOg] =\

any of Hupse = all weate ! (@ops}

7. When a solution of pure water has a pH of 7.5, the temperature is and the solution is
a. lessthan 25°C, basic ¢, greater than 25°C, basic
@ less than 25°C, neutral d. greater than 25°C, neutral
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